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SIGNIFICANT FIGURES & STANDARD FORM

NAME . e FOIM

Significant Figures

You need to be able to quote answers to the correct number of significant figures.

1) Write the following numbers to the quoted number of significant figures.

a) 345780  4sigfigs 3435 800 d) 6 3sigfigs ... §-00 .

by 207300 3sigfigs .29 T OO o go01s63  3sigfigs ... 0 .00l 56

¢) 007896 3sighgs C. 0 F90 f) 0.01 4sigfigs. ... 0-0l00p.
2) Complete the following sums and give the answers to 3 significant figures.

a) 6125 x 384 2350000 . d) 75025 30.0 .

b) 25.00 x 0.0 0: A5 0. e) 0.000152 x 13 .0-00193.

c) 13.5+0.18 A3 €7 f) 0.0125 x 0.025 0.:0003i2

Standard Form

You need to be able to work with numbers in standard form.

3) Write the following numbers in non standard form.
a) 15x10° o000l d) 0.0534 x 10° S3Y4.
b) 0.046 x 107 OC:0QOHE . o) 103x10° l03c000.
¢c) 3.575x10° 353500, f) 8.35x10° 0:0C0oR3 S

a) 0.000167 -6F.x 0o 1 d) 34500 3"’5-’”09

b) 0.0524 Sy x107t oo C Gaxaenl

¢) 0.000000015 S f) 87000000 R Fx(0T
5) Complete the following calculations and give the answers to 3 significant figures.

a) 6.125x10% x 35 ... 2% Ynio=2 o014

b) 4.3x10% = 7.0 B Celymipgtf Sapetetelel Rhy |

c) 4.0x10° + 35000 L/"fcglfDCOOLOOO

d) 0.00156 + 2.4x10° ... 2 xie 24c0

e) 6.10x10% - 34x10° . o 1oxw 2 ©:06:lp

& w 16~ F
fy 800x10° x 0.100x10° ... 8:C x ("7 0-coooooB800
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A LEVEL ESSENTIALS 1 SN,

1) a) Whatis the difference between an element and a compound? (2)
b) All substances are made up of three types of particle: atoms, molecules or ions. Explain what atoms,
molecules and ions are. (3)
¢} Identify each of the following particles as an atom, molecule or ion.
NHa 0* 80/ F, O 0; NO;y HO0 ¢ H (10)
m [ | 0 A m o m =3 i 2
2) Write the formula of the following substances. Some are ionic, some are atomic and some are
molecular.
a) lithium oxide L1, O e) ammonia NH 3
b) calcium nitrate  Ce ([N 03)1 f) nitrogen Nz
c) methane (CHy g) argon A
d) ammonium sulphate ((\I |-l~1) & 80? h) iron (Ill) hydroxide FQ(OH)& (8)
3) Balance the following equations.
a)3Fe +iH:0 - Fes0. +4H, (1)
b) PCls +3H20 — P(OH); +3HCI , (1)
9 1y l 2 N, + 3H.0
¢c) ammonia + oxygen — nitrogen + water 2““‘5 + Cq 7 2. B (2)
. 2
d) ethane + oxygen — carbon dioxide + water o a )
! " GH # 0. —> Jco, + 3H0. @
4) Complete the following calculations, giving your answers to three significant figures.
a) 32420 + 762891 b) 12000 + 1000 c) 0.06438 +0.0004378 d) 180+ 90 (4
+ 45000 i2-0 00 44 2-60 .
5) The following results are accurately measured values from experiments. Complete the sum and give
the answer to the most number of significant figures that you think gives an answer that is trustworthy.
a) 1.4567 +2.3 b) 10.5-0.145 ¢) 3.000-0.056 d) 8693.457 + 1.2367 4)
33 to-dj. 24 869y F
6) Rearrange the following equations to give the letter shown as the subject.
a) What does ¢ equal if q=mcT? &7 n%r’ d) What does nequalif PV=nRT? n = El_/,
’ 27
i i T-WH - & i s _ .
b) Whatdoes Tequalif G=H-TS 71 L.é___e\) What does c equal if  2a = 3(b - 2¢) o 5 (36 "20.,_)
c) What does g equal if E = 3pg f) What does T equal if F =mc+ Rk 6 - é
2r T
9- &r
Challenge for the week 3p. T = Rhk
7)  Balance the following equations. F-mc
a)JKMnOs +|/HCI — KCI +MnCl +5Cl; +§H0 @
b)_2A84Os +,?)SQC|2 +S-Cf2 %%SCE {}SOZ (2)
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